/AN

Hl]M[l]M

Popular Products for Home

836-222AK/836--222GY

N

N

Please readthese instructions andwarranty information carefullybefore
use andkeep them properly for future reference.

o

OPERATING INSTRUCTIONS




ASSEMBLY

INSTRUCTION

ITEM:

The installation is complete

Decomposition of components

<

I1I

Rotate 180 degrees

Please check the board number and number

2 )

1) 3 ) [4 ) 5 )
N N
1pc 1pc 2 pcs 2 pcs 2 pcs
6 ) 7 ) 8 ) 9 ) [10)
< /
1pc 1pc 1pc 2 pcs 2 pcs
Please check the number and quantity
A ) B ) [c) D) [E )
)))))))))))))))))))))))))))))))))))))))))))))))))))) -)»mm»w
() I ~ D
M6*55 4 pcs | M6*30 6 pcs | M5*40 26 pcs| M5*70 8 pcs 8+1 pcs
F ) G ) H )
&
(L7
4 pcs 4 pcs 4 pcs

172




INSTRUCTION
[STEP 2)

ASSEMBLY

Start assembling furniture

STEP 1)

e=e» G x 4pcs

STEP 4

STEP 6 )

amss C X 1pC

@mmm B x 6pcs

| 2/2

wmeg C X 1pC

esma® C X 12pcs

STEP 3)
C

STEP 5)




usS

[=] 5738 [m]
Aosom
rSass
1
001-877-644-9366 001-855-537-6088
customerservice@aosom.com customerservice@aosom.ca

0033-1-84166106 0034-931294512
contact@aosom.fr atencioncliente@aosom.es

Aosom

=1

0044-800-240-4004 0049-(0)40-88307530
enquiries@mhstar.co.uk service@aosom.de

0039-0249471447
clienti@aosom.it




	H191-GM-098安装大货 Model (1)
	H191-GM-098安装大货 Model (2)



